
Chapitre 7 : Test 2 – Double distributivité 

NOM Prénom : ………………………………………………………………… 

(3𝑦 – 8) ( 8+10𝑦 )   ( 𝑥 - 9 ) (-4𝑥 - 3)      ( -3𝑏 – 9) (2 - 7𝑏) 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

 

 

(2 + 𝑡) ( -7 + 8𝑡)   (4𝑎 + 2) (7𝑎 + 10)      (𝑡 + 1) (2𝑡 + 4) 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

 

 

 

 

 

 

Chapitre 7 : Test 2 – Double distributivité 

NOM Prénom : ………………………………………………………………… 

(3𝑦 – 8) ( 7+ 4𝑦 )   (4𝑎 + 2) (-8 – 9𝑎)      ( 8𝑏 + 4) ( - 6 - 2𝑏) 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

 

( -9 – 𝑏 ) ( - 3𝑏 + 1 )   ( -3𝑏 – 9) ( −5b −1 )        (𝑡 + 1) (2𝑡 + 4) 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

  



Chapitre 7 : Test 2 – double distributivité 

NOM Prénom : ………………………………………………………………… 

(3𝑦 – 8)  (7𝑦 + 1)   ( 𝑥 - 9 ) ( −9 − 3𝑥)      (𝑡 + 1) ( 6𝑡 + 8 ) 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

 

(4𝑎 + 2) ( 4𝑎 + 5 )   ( 7 + 𝑥 ) (−5 − 9𝑥)      ( 8𝑦 + 4) ( 10 + 8𝑦 ) 
= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

 

 

 

 

 

 

Chapitre 7 : Test 2 – double distributivité 

NOM Prénom : ………………………………………………………………… 

(3𝑦 – 8) ( 9𝑦 – 8 )   (𝑡 + 1) ( −6𝑡 – 3 )     (4𝑎 + 2) ( 10𝑎 + 4 ) 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

 

(8 −2𝑡) ( 𝑡 + 9 )    ( -3𝑏 – 9) ( 3𝑏 + 4 )        ( 𝑥 - 9 ) ( −2 + 9𝑥 ) 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

= ……………………………  = ………………………………    = ……………………………… 

 


